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QUESTION 1

DHCP is called Dynamic Host Configuration Protocol. It mainly assigns IP addresses and DNS information to hosts
automatically. The messages used are () 

A. discover 

B. Offer(Provided) 

C. request 

D. ACK (acknowledgement) 

Correct Answer: ABCD 

 

QUESTION 2

Since the TCP protocol uses a three-way handshake mechanism when establishing a connection and closing a
connection, TCP supports reliable transmission. 

A. True 

B. False 

Correct Answer: B 

 

QUESTION 3

In standard STP mode, which of the following non-root switches will forward the C-set BPDU generated by the root
switch? () 

A. Designated port 

B. Root port 

C. Backup port 

D. Preparatory port 

Correct Answer: A 

 

QUESTION 4

Which of the following networks are LANs? (Choose all that apply.) 

A. Internet 

B. Home network 
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C. Office network of a company 

D. Broadband MAN 

Correct Answer: BC 

 

QUESTION 5

When the switch port receives a data frame that does not carry VLAN TAG, it must add PVI() 

A. True 

B. False 

Correct Answer: A 
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